
A-A 

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

E E

F F

CONSTR CHECKED TITLE SCALE DATE

REVISION

DRAWING NO

DRAWN BY

T
hi
s 
is
 t
he
 p
ro
p
er
ty
 o
f L
a
m
in
o
va
 P
ro
du

ct
io
n 
A
B
, 
S
w
e
de
n

an
d
 m
u
st
 n
ot
 b
e 
co
pi
ed

 w
ith
o
ut
 o
ur
 p
er
m
is
si
o
n,
 a
n
d 
th
e

co
nt
e
nt
s 
th
er
eo
f 
m
us
t n
o
t 
be
 im

p
ar
te
d 
to
 a
 th
ir
d
 p
a
rt
y 
or

 b
e
 u
se
d 
fo
r 
a
ny
 u
na
ut
h
or
iz
ed
 p
ur
po
se
. C

o
nt
ra
ve
nt
io
n

 w
ill
 b
e 
pr
os
e
cu
te
d.

MATERIAL
DESCRIPTION

MA  

OIL COOLER
2008-01-16

A

SA00420

1:2 A2

 

 

ECD54-271 Combined Special

APPROVED

 

A A

C43 M16x1,5 (inv.)OC00020AOIL CONNECTION219

EC54 SPECIAL COMBINED UNITSL00101BGASKET218

EC 54 JIC 12OC00060BOIL CONNECTION217

EC54 ø45WC00134CWATER CONNECTION216

ISO 7380 KTS 8.8 FZB M6x12TB00267ASCREW815

18,77x1,78 FPMSL00039AO-RING214

ø26,7x1,78 FPMSL00083AO-RING213

Hexagon Socket Head Cap ScrewISO 4762 - M6 x 30 212

Hexagon Socket Head Cap ScrewISO 4762 - M6 x 12 411

Hexagon Socket Head Cap ScrewISO 4762 - M6x110 210

Hexagon Socket Head Cap ScrewISO 4762 - M6 x 20 69

44,2x3 HNBRSL00084AO-RING28

EC54SL00114AGASKET27

 TB00191CBRACKET26

EC54-80 Combined unitHS00160AHOUSING15

 TB00190CMEDIUM PLATE14

ø46x4 FPMSL00067AO-RING13

D54-271 CombinedCA00036ACORE ASSEMBLY12

EC54-168 Combined unitHS00164AHOUSING11

DESCRIPTIONPART NUMBERTITLEREQDITEM

9
4

,3

6
2

,3

88,5

79

4
5

Ø

271CORE LENGTH 

338TOTAL LENGTH 

OIL CONNECTION JIC-12
OIL CONNECTION M16x1.5 (inner thread)

9 10 16 8
7

15
19

14

12

6

5

11

18 4

2

1

15

17

13

3


